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3. #4284 5T (KIWANC1-0161 SHR)

(MK REEEGREE)W= 1394 kg X 9.8m/s2 ./ 1000 = 13.7 kN
(2)7Uh—K Wk
DR n= 4 K
Q442 =M 16
Q—AHT=YDEMTEIE (FERICKDMEIE) A= 2.010 cm2
@*&%ﬁnﬁui%zt%A@%Ii&Wé Z+5ERIDT - WMAARE
Nt= 2
BIFEAMFTEIVERZRELEFTOSS Hg= 77.5 cm
(A BREFTBARMDRI=HVANY L= 66 cm
(B)RETHIAAMILRERNMBODIASEEELETOIRRS
Lg= 315 cm(Lg=L/2)
4. BREtEE
(MERETHKEEE Kh= 1.0
(2)HTHREEEE Kv=Kh/2= 05

(B)BETAKTEMESN Fh=KhxW= 137 kN

(4)BEAREMESD Fv=KvxW= 69 kN

(B)TUh—FK WDEIEREHN Rb
Rb={Fh-Hg— (W—Fv) -Lg}.~ {L-Nt}

= 6.43 kN
(B)TUn-KIDEAMA Q
Fh/n= 3.43 kN

(7)FUh—KWMZET B HE
@B|-28RYIEHE ©

0=Rb/A= 3.20 kN~ cm2 < ft=17.6kN,” cm?2
QEAMILAE T
T=Q /A= 1.71 kN~ cm2<fs=10.1kN.” cm2
QBI2RY EBAMERIFICZ(TAIEE
fts=14ft—16T = 21.9 kN/cm2
o= 320 kN cm2 < fts = 219 kN cm2
(8)TUh—HK MO % (BERBMERT-HEIEH R33(v)ESELL,)
O7Uh-KMMETE = BEMIEERT H—
@avy)-MNEE= 150 mm
BF N DEHAAREES= 110 mm
@FFBBIEREN Ta= 11.7kN > Rb= 6.43 kN
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1. #iE=  ZTARE—IRUTFS—

2. %= CAHV-P1180A-P KR TEE  1.5kW

3. #4284 5T (KIWANC1-0161 SHR)

(MK REEEGREE)W= 1394 kg X 9.8m/s2 ./ 1000 = 13.7 kN
(2)7Uh—K Wk
DR n= 4 K
Q442 =M 16
Q—AHT=YDEMTEIE (FERICKDMEIE) A= 2.010 cm2
@*&%ﬁiﬂﬂli%zr_tﬁA@%Iiﬁufé Z+5ERIDT - WMAARE
Nt= 2
BIFEAMFTEIVERZRELEFTOSS Hg= 77.5 cm
(A BREFTBARMDRI=HVANY L= 66 cm
(B)RETHIAAMILRERNMBODIASEEELETOIRRS
Lg= 315 cm(Lg=L/2)
4. BREtEE
(MERETHKEEE Kh= 15
(2)HTHREEEE Kv=Kh/2= 0.75

(B)BETAKTEMESN Fh=KhxW= 206 kN

(4)BEAREMESD Fv=KvxW= 103 kN

(B)TUh—FK WDEIEREHN Rb
Rb={Fh-Hg— (W—Fv) -Lg}.~ {L-Nt}

= 11.29 kN
(B)TUn-KIDEAMA Q
Fh/n= 5.15 kN

(7)FUh—KWMZET B HE
@B|-28RYIEHE ©

0 =Rb/A= 5.62 kN~ cm2<ft=17.6kN,” cm?2
QEAMILAE T
T=Q/A= 2.56 kN~ cm2<fs=10.1kN.” cm2
QBI2RY EBAMERIFICZ(TAIEE
fts=14ft—16T = 20.5 kN/cm2
o= 562 kN cm2 < fts = 205 kN, cm2
(8)TUh—HK MO % (BERBMERT-HEIEH R33(v)ESELL,)
Q7K MMNETE = BEMIEERT H—
@avy)-tEE= 150 mm
QF M DIEBEHAARS= 110 mm
@FFBBIEREN Ta= 11.7kN > Rb= 11.29 kN
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